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ELEE 2300 - NETWORKS I, Spring 1998, Section # 02364

Quiz # 4
Monday, March 30, 1998

DO NOT OPEN THIS QUIZ BOOKLET UNTIL INSTRUCTED TO DO SO

This quiz has four pages, including this cover page. If you are missing any
Pages, raise your hand. To complete the quiz you have 25 minutes.

L. Be sure that your name, number and the signature appear above,
2. The quiz is not open books or open notes !!!
You may use any calculator you choose.
3. To receive full credit, along with solving the problem, you must:
2) Show all work Becessary for solution;

d) Show all uaits explicitly, in intermediate sumerical results as well as fina solutions;
¢) Use the proper notations for all quantities.
Do not use red ink.

2. Keep in mind that most of the credit for the problem will be givea for showing the correct
methods or equations.

3. This quiz has one problem, and the total number of poiuts is 100,
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